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STE-qRTHT & AARh & a7 offe 981 Mot oFT: AEeasaar g ore sfiw
foraT s T #e

Except answer book, no extra sheet will be given. Write to the
point and do not strike the written answer.
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i)

TE: The question paper is divided in to four sections (A, B, C,
d D)
SECTION A consists of 1 Question (10 Objective Type
Questions of 1 mark each).

ii) SECTION B consists of 4 Very Short Answer type questions of

1 mark each.

iii) SECTION C consists of 7 Short Answer type questions of 2

marks each.

iv) SECTION D consists of 3 Essay type questions of 4 marks

ii)

each with Internal Choice.

qE: TIIA AR @S (A, B, C, D) HHAERTITATE
AFMTA FTTHSATL H 1 FFH 10 TGS TH F T &
TR B H 1 o o 4 ST T IAL TR 6 T &

iii) WRMEC H2 SHlF 7 T AT TR & T &

iv)

TFOT D | A AsheT & G717 4 Sl % 3 Haer T = 77 2

SECTION-A
(ATATT-T)
All questions are compulsory and carry 1 mark each. st w1 sT=amd g &iw I 1
T FT 2|
1)

I.
a)
b)

c)
d)

1 TB Equals to how many GB 1 TB Ta+t GB & s¥Ta¥ gidt &
512GB

2048 GB

1024 GB

1000 GB

Whatsapp, MSWord, Adobe Photoshop related to which type of software
Whatsapp, MSWord, Adobe Photoshop — To& T % Hi%ea< & q¥afead g

Application Software/Te TeheTT T
System Software/ffreew AFa

Language Translators/ S{¥esT 2ieeiet

o

None of the above/3T<I<k | & &S A8l

Full form of ASCII is?
ASCIIl T 07 =7 FI7 g
Aireland standard code for Interchange Information
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b) American Standard code for Infomation Interchange
C) American standard code for Interchange Information

d) Aireland standard code for Information Interchange

iv.  What is the name of the extension of Python File?

Python ¥ SHTI T TRITH il THFAEH FIT gl g ?

a) .ps
by  .py
c)  .pg
d) .pz

V. Full form of EULA is ?
EULA i T ®iH FT & ?

Vi. Is called Python Prompt

T ITSAA o T o AT & ST 77 2

vii.  DRAM and SRAM is the type of RAM. (True / False)

DRAM T SRAM,RAM # T&TT g | (T / 9T )

viii.  Base of Binary number is always 2. (True / False).

et ST AT T o9 gHAT 2 BIAT 8 | (7T / 319 )

Direction (for ix and x):
In the questions given below, there are two statements marked as Assertion

(A) and Reason (R). Choose the correct option out of the choices given below in
each question:

Ao = BT 10wt &, o (A) i For (R) F &7 § ffreq av &9
TTIE T | A R U St § & "5t fAswew i 53 e

ix.  Assertion: Availability of Computer services like servers,storage,database etc
remotely over the Internet is called Cloud Computing

Reasoning: laaS, Paas,SaaS is the services provided under the clouding computing.
a) Both (A) and (R) are correct and (R) is correct explanation of (A).

b) Both (A) and (R) are correct and (R) is not the correct explanation of (A)
Downloaded from www.cclchapter.com



C) (A) is true but (R) is false.
d) (A) is false but (R) is true.

FAT (A):FT o G ST il TG, TS, TTH TATG FT Tredde 9T RHTeedt
IUAS BT FATIE F [T FgeATaT &

T (R): laaS, Paas,SaaS FATIE T [eT ZIXT Y& #hf s 9410 2 |
a) (A (R) I /2T € 3717 (R), (A) #T HET ATEAT € |

b)  (A) 3T (R) T @&l g 3T (R), (A) FT T8 =ATEAT 751 8 |
) (A)FFE & (R) ATTE |

d (A IFTE o (R) T ¢ |

X. Assertion: When we use Internet or social media plafform we leave a trail of
historical data. this online trailsare is called digital footprint

Reasoning: Active Digital Footprints and Passive Digital Footprints is the types of
digital  footprint .

a) Both (A) and (R) are correct and (R) is correct explanation of (A).

b) Both (A) and (R) are correct and (R) is not the correct explanation of (A).
C) (A) is true but (R) is false.

d) (A) is false but (R) is true.

FAT(A): 5T GH TeIAe IT AT HITSAT TehiH HT START HLd & af gH
UfdgTiae S &1 U 9T BIE AT 8| TF AT coff &l [Sfoed Befie Hgl
STaT g

F0T (R): Ulaea RiSes gefie ofiv e Rivea el e gefie &
THL 2|

a) AT (R) I A&l g 3T (R), (A) T 9l ATEATE |
b) AT (R) AT LT E T (R), (A) T LT =ATeaT 721 2 |
) (A)TAE AT (R) AT E |

d (A IHTE o (R)TT g |

SECTION-B
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(A=)

All questions are compulsory. Marks are indicated against each question. 5T =1

ST & 7 o T AT i o

2) What will be the output of the following python Statement (1 marks)
str1="hello’
str2="world’

strl+str2

T AT & TS ITSAA TEHSH F ATSTYE FAT gHIT?
str1="hello’

str2="world’

strl+str2

3) What will be the output of the following python Statement (1 marks)
list1=[1,3,4,8]
3in listl

T -1 AT TS AT TeHed T S3eTe FAT g ?

list1=[1,3.4.8]

3in listl

4)Define the Microprocessor/ 5T -ATSFHII T T TICATOT FL? (1 marks)

5) Write full form of EEPROM/ 97 -EEPROM #T 97 &9 47T g ? (1 marks)

SECTION-C
(FTT-4T)

Marks are indicated against each question. es T & 3 I ATHA (&T T3 g
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6) Write the use and syntax of the for loop in python with example(2 marks)
T -GTS| H BT T AT (Head 320 aohe qHed
OR /4T

Explain List, tuple, set in python with example (2 marks)

TT -ATSA | IR 214 a1l fofee tuple, ¥ T IIEOT << THATY

7) Convert the following (2 marks)
(51)16 to(?)10

OR/AT

Convert the following (2 marks)

(11011), to (?)g

8) Explain what is Intellectual Property Right? (2 marks)
Intellectual Property STTETE AT § THATY ?

9) Define cyber-crime and explain different type of cyber-crime?

ToT -ATSa< HISH i TILATHT 4T 8 2 AT T o argax #rea s I § o (2
marks)

10) Define the language Translator and its type? (2 marks)

ToT -STTOT e T ZHE ThTe & a2 ¥ forg 2

Raghav enjoys exploring different websites to learn new things and play online
games. One day, he receives a pop-up message on his computer screen claiming
that he has won a free gift card to his favorite online store. Excited, Raghav
clicks on the pop-up to claim his prize

TG & A5 FIo HIE AT ATATS T T9 G & forw [BfS s qaarse adre § 7
AT 2 UF T, I 319 Foge? BhiA 9¥ UF 9-377 97 IT9 grav ¢ e amar
FoRT STTaT 8 o S8 o199 TH<IRT AFared T 9% UH T TSI &l Siidl gl
ST, T AT TIERTT T AT HT & (70 T19-37T 92 G Fear g

11) What type of cyber security threat is Raghav most likely encountering in this
scenario? (2 marks)
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a)Virus
b)Firewall
c)Cookie

d)Adware

T -] TG § THT &l (o6 T & AT2a< LA @a< w1 GTHAT HLAT I8 T
2?

PVELRESS!

YEIREEIE]

o)

S)UEERR

12 What could happen if David's computer becomes infected with malware from
clicking on the pop-up? (2 marks)

a)His computer might get faster.
b)His personal information could be stolen.
¢)He might receive fewer ads.

d)He could win more prizes.

T - TI-77 92 &Feh e F AT T Fded HAaIL F GRiHd gl ST qf 47 &l
qRAT 872

a)IHAT FHEL AStl & FHTH HT]

b)SHERT SR SR AT gl Tehcl &
C)3H FH A= o 9
d)ag AT | TEERIT ST ThdT &

SECTION-D
(ATT-ET)

13) Explain Natural Language Processing? (4marks)
T - SAvaST STTETET &l 07 e
OR/AT
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Explain 10T with its application?

loT F9T9 &Y o THEF TTATheTT & a1¥ | forg ?

14) Write a python program on List and apply various operation on it like, Concatenation
Repetition, Slicing ,Membership etc.

TT U qTed« TUTH a910 ey uE foree 997 399 o= a1er Concatenation

Repetition Slicing Membership STT¥eTT T TTHIH Feh fe@m@T e (4 marks)
OR/AT

Create string variables and apply various built in function on it

TT -aTEo § Few afiuas aaree 399 A9 built in function TR fa@T=Y

15) Draw and explain Computer System block diagram with all functional
components (4 marks)

T-HCIET T 5ANT STAUTH aAT0 9 S8 THT HATAA HIFIIHEH I TFT HY
OR/AT

Expalin different Generations of computers?

T -Fee Artatee fifeat s e | aiq w2
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